Hl—: BAEBGINRERBRERERM,

BEA# REEAH &it RE%E
IB4-IRE 43 96 139 30.94%
AIEH-I5E 28 84 12 25.00%
&it 71 180 251 28.29%

B IAMARIBEARNREE FEH30.94%F125.00%, MENEFFIERMFIRESI, , thAlgER &+
HNRERENE F2N,

H
TEMMATRIRT  RRBAIHYRELBRRZELMN, NB4IHSRELX

FRIARE N ERERLFRE (43+28) /(43+28+96+84)=28.29%

PR ART 1S 2UEEIE ISR AR

BEAH REEAH ait
IS4 =139%0.2829 =139%(1-0.2829) 139
AIEHBE =112%0.2829 =112%(1-0.2829) 12

RIREE:
BEAR REEAH &it

184 39.3231 99.6769 139
ARISHHBE 31.6848 80.3152 12
ait 71 180 251

MRRERNLERINENE REPIEISENZFMEZERINZZR.

TAREITEAR



(43 —39)> (96 — 99)2
39 99

HeARSPIME, THEIRE

XMMENEX HERIESLINEREE,

ZKETERIMUITESE

XA2=1.077

B2 EMEDEE— NN RETBBRE00R, BFRMENIESLMT

BEAE d % B B R K
EHRE 75 125 70 80 135 115

B XBERESSENHEEX?
g MIRRBEHSAENFETLK, NWSMEASHNIVEERERBESHNATEEZ 0, B

, 1
P,(REHBR) = s i=12,6

bd

TEITERITE
2 . (f _ F)2
7' =2 ]
i=1 E
SERE fi P, F=nPe | fi—F | (izHh)
Fi
Al 75 1/6 100 25 6.25
= 125 1/6 100 25 6.25
& 70 1/6 100 -30 9
= 80 1/6 100 -20 4
" 135 1/6 100 35 12.25
i3 115 1/6 100 15 2.25
3 n=600 40




ERITEH =40, HXa=0.05, FEixBEITSE, NWBHEN6-0-1=5, BRI, REULFH(IAILAIA
ERBEBEHSNIFNFEEX,

20.05 = 195

X2

I(X,Y) = H(X) - HX|Y)

maE AFEHE BEERESEN

A 0 1
B 1 1
C 1 0

R REMAR R B RZABUE R ITE R IE 2 BAEX L MIFRTE X IE AR (FF4E)
FANED RN D 2K BAE TR BRI ARRIE B (FIEEE)



